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A baseball player has been a .250 career hitter works to improve his batting average. He wants to
convince the team manager that he has improved, and the manager offers him a trial of 30 at-bats to

convince him.

a. State_tht\eDnuII and alternative hypotheses in symbols and in words.
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b. Describe what a Type | error means in context.
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c. Describe what a Type Il error means in context. '
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d. Describe the sampling distribution for his proportion of hits out of 30 attempts, assuming the i >

hypothesis is true and he really has a .250 batting average.
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e. Assuming he is still a .250 hitter, find what proportion of hits he would have to get to have@
less chance of doing that well. =0 g‘
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f. Now let's assume that he really did improve (the null hypothesis is false) and will now have a .333

average. Describe the sampling distribution for 30 trials at this average. —
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g. Using your answer from e, find the probability that he hits at least that proportion if he is a .333

hitter.
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h. Fill in the chart with the probabilities of each event.
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i. List the three factors that will affect the power of a test.
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